Raices Cubicas (C)

Halle cada raiz.

21952 = Y28 o= 1,728
24389 = Jaees6 = 125

8000 = 939319 = 1,728
J2744 = P26 = 59319
J19.683 = /68921 = /50,653
343 - Y o= 39791
2192 =N = Jorazs
7729 = Jea000 =__ 17576
J10648 = 339304 =_ 59319
79,507 = /85,184 = /59,319
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Raices Cubicas (C) Respuestas

Halle cada raiz.

J21,952 =28 J42.875 =35 71,728 =12
24389 =29 J46,656 =36 3125 =5
/8,000 =20 59319 =39 71,728 =12

2744 =14 3261 =21 759,319 =39
J19,683 =27 /68,921 =41 /50,653 =37
3343 =7 J1728 =12 ¥29,791 =31
J21,952 =28 J1 =1 JOLI25 =45

I729 =9 J64.000 =40 J17.57 =26

:

J10,648 =22 39304 =34 759,31 =39

:

J79.507 =43 J85.184 =44 35931 =139

:
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